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| A - SECTION - II ]

[ENGLISH (COMPULSORY)J

Neither vy
you, nor 1, nor anyone clse

the answor.

(A)  know
(B) knows
(C©)  have known

(D)

knowing

If he had asked me, him.

(A) I would help
(B) 1shall have helped
(C) 1 would have helped
(D) Iwill help

Which of the following imperative sentences
expresses ‘advice’ ?

(A)
(B)
©
(D)

Please have another cup of tea.
March on, soldiers.
Have a smooth journey.

Respect your elders.

Which letter is silent in the word “solemn’ ?

25.

26.

27.

We shall have to call the party ———
if it rains.

(A) on
(B) out
(C) off
(D) wup

Which of the following is a grammatically
acceptable sentence ?

Sreyan scored a goal in the last minute
who was fortunate

(A)

Sreyan who scored a goal in the last
minute was fortunate

(B)

(C) Sreyan, who scored a goal in the last

minute, was fortunate
(D) Sreyan, that scored a goal in the last
minute was fortunate

Our Headmaster taught us grammar. Which
of the following sentences is the correct
passive voice of the above sentence ?

(A)

We are taught grammar b
Headmaster. yoour

24. (B) We were taught grammar by ou
] Headmaster. !
- (€) Grammar is taught
(B) IHeadmaster. B U by our
© s

(D) We were being taught
D) 1 Headmaster. s grammarby ouy
= ——
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28. The teacher said, “The earth moves round

the sun.” pjcx out the sentence which

C :
.OrFeCtly changes the above sentence into
Indirect speech,

(A) The teacher told that the earth moves
round the sun,

(B) The teacher said that the carth had
moved the sun.

(C) The teacher told that the earth moved
round the sun,

(D)  The teacher said that the earth moves
round the sun.

29. How often
You were in France ?

(A) dld you go
(B) were you going

to the theatre when

(C) have you been
(D) doyougo

30. Which of the following is a meaningful
word ?

(A) hurricane
(B) herricane
(C) hurrecane

(D) herrecane

Read the passage given below and answer the
questions that follow choosing the correct

alternatives given.

The white tiger is one of the rarest wild
animals not only in India but perhaps in the world.
In fact, all the white tigers found in India and
abroad are the descendants of a nine-month-old
white cub that was captured in 1951 in the forest
of Rewa in Madhya Pradesh. At present there
are about 38 white tigers in the world, out of

which 24 are in India.

SET _@

The white tiger is a magnificent animal. |y

has a snow - white coat with brown or .ash
coloured stripes and is larger than a normal tiger,
About 70 years ago it was reported that there were
light coloured tigers in the forests of Assafn, B_erlgal
and Bihar, but they were not truly white tigers.
The forests of Rewa are the only region where real

white tigers are found.
Questions :

31. What kind of stripes do the white tigers
have ?

(A) white - coloured
(B) brown - coloured
(C) red - coloured

(D) purple - coloured

32. Inwhich state was the nine-month-old white
cub found ?

(A) Bihar
(B) West Bengal
(C) Assam

(D) Madhya Pradesh

33. How does the writer describe the white
tiger ?

(A) as harmful
(B) as ferocious
(C) as magnificent

(D) aslovable

OSSTET/P-I
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34.

35.

Whatis t 4
atis the antonym of the word ‘normal’ ?
(A)  unnormal

(B) abnormal
(©)  innormal
(D) usual

The white tiger is regarded as one of the
wild animals in India.

(A)  most unusual

(B) fiercest

(€)  most common

(D) most familiar

Read the poem given below and answer the
questions that follow choosing the correct
alternatives.

Loveliest of trees, the cherry now
Is hung with bloom along the bough,
And stands about the woodland ride

Wearing white for Eastertide.

Now of my threescore years and ten,
Twenty will not come again,
And take from seventy springs a score,

It only leaves fifty more.

And since to look at things in bloom
Fifty springs are little room,
About the woodlands I will go

To see the cherry hung with snow.

Questions :

a7,

38.

39.

40.

Why does the poet wish to

seT -(S)

go about the

woodlands ?

(A)
(B)

(©)

(D)

¥ . - W
to see the cherry tree laden with sno
i ite
lo see the cherry tree hung with whi
flowers
to collect the blossoms from the cherry
tree

to sce the snow on the cherry flowers

Where does the cherry tree stand ?

(A) in the garden

(B) about the woodland path

(C) on the premises of a church

(D) on the bank of a river

The first stanza describes the of

the cherry tree.

(A)
(B)
©)
(D)

leaves
roots
fruits

blossoms

The word ‘room” in the line “Fifty springs
are little room” means

36. How many years, according to the poet, is (A) part of a house enclosed b
he left with to look at things in bloom ? d by walls
(A) twenty (B) space that is enough for an occasion
(B) threescore and ten (€} wpaceiof Hins
©
(D) face
\
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(B - SECTION - III

SCIENCE (PCM)

PHYSICS

.

_—

41. A train accclerates from 18 km/h to 44.
72 km/h in 10 sec. What is the distance
travelled by train ?

(A) 355 m
(B) 325 m

(€ 125 m

(D) 255 m

42. In which medium sound wave cannot pass
through ? 45.

(A) solid
(B) vaccum
(C) ideal gas

(D) liquid ,

43. The pitch of a sound wave depends 1.1pon 46.
which one of its following characteristics ?

(A) speed
(B) loudness

(C) amplitude

A pendulum is oscillating freely. Its bob

has :
(A) Only kinetic energy

(B) Maximum kinetic energy at extreme

position

©) Maximum potential energy at its mean

position

(D) A constant energy which is the sum of
potential and kinetic energy

Mass of an object on earth is 12 kg. What is
its weight on moon ?

(A) 196 N
(B) 12N

(C) 244N
(D) 148N

Express the SI unit of power in terms of
mass, length and time :

(A) kgm?s~3
(B) kgms~3
(C) kg?m?s~ 2

2

(D) kgms =

(D) frequency

——

OSSTET/ P-I [17]
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re put close to each othe,

47. YOO . i - . Icns‘(}s a . . .
X I"L'CL iR “0ating viywaler (e g o length of this combination is ;
container. What wil happen to the surface The focal 1N
of water when whole ice picce melts ? (A) less than the smaller focallerQ“h

o lenses
(A)  will go up among; the tW
_ an the bigger focal lengty
(B)  will'not change (B) more than | SC; 8
. B among, the two 1ENSE
(©)  will po dow .
£0 down ©) CqualtothcarhhrnQUCalaverageofﬂm
(D) none of these two focal lengths
(D) equal to the geometrical average of the
two focal lengths

48. A few substances are grouped in increasing
order of their particle’s “forces of attraction’.

Which of the following is the correct order ? . ) .

51.. Which of the following mirror is used by a
(A) Water, oxygen, chalk Dentist to examine a small cavity ?
(B) Salt, juice, wind (A) Convex mirror
(C) Nitrogen, water, sugar (B) Plane mirror
(D) Air, salt, oil (©) Concave mirror

(D) Combination of convex and concave
, mirror

49. Weightlessness is experienced by objects
inside an artificial satellite. Even though the
moon is a natural satellite of the earth, we

1 3 - 520 The for i
do not ex.pc.rlence weightlessness on the o ce between twq charges is 200 N. If
moon. This is because : 5. flstance between the char ges s dOllblEd/
. € force will be
(A) there is no gravity on moon L ——
(A) 400 N
(B) our mass is changed on moon
(B) 100N
(C) mass of moon is considerably large
©) 50N
(D) all of the above
(D) 200N
OSSTET A ol \___/
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53. A patient of hypermetropia is given 57. The shape of the magnetic field lines
spectacles of : produced by a current carrying conductor
(A) concave lens e
(B) convex lens (A) straight lines
e (B) concentric circles
com
) pound lens (C) concentric ellipse
(D) lens of zero capacity (D) concentric parabolas
54. Dancing of small pieces of camphor on the 58. In a circuit, four resistors each of 12 ) are
surface of water is due to : Connected in parallel to a 12 volt battery-
. What is the equivalent resistance of the
(A) Viscosity -
(B) Surface tension (A) 48Q ... _
(C) Weight (B) 240
(D) Lifting force (C) Sk
(D) 60
55. To store alarge amount of charge at relatively 59. Weber per square meter is called
low Voltage, we use :
(A) ceramic capacitors (A) henry
(B) fixed capacitors (B) ampere
C) tesl
(C) parallel plate capacitors © es‘a
(D) ohm
(D) electrolytic capacitors
60. If we apply law of conversion of energy to
56. A device used for converting AC into DC is electromagnetic induction, electrical energy
salied induced in a conductor comes from
r
(A) Transforme (A) Potential energy
(B) Rectifier (B) Heat energy
(C) Induction coil (C) Kinetic energy
(D) Dynamo (D) Radiation energy
~ OSSTET/P-1 (1] (Turn over)
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k_—’/j happens o the electropositive
65. What I s on moving from left

61. Surface Tension of a liquid is due to: Jement

-avilati -»dic table ?
(A)  Gravilational force between molecules to right ina Pcrlodlc 2

(B)  Electrical force between molecules
ses

: A) Incred

(C)  Adhesive force between molecules (A)

(D) Cohesive force between molecules (B) Decreases

(C) First increases then decreases

62. Which one of the following oxides reacts
AL Sotvanl whdibasey - (D) First decreases then increases

(A)  Aluminium Oxide
(B) Calcium Oxide

(€) Sodium Oxide 66, The element having tetra-atomic atomicity
(D) Potassium Oxide is
(A) Helium

63. The neutralization reaction between an acid
and a base is a type of : _ (B) Nitrogen
(A) Double displacement reaction

(C) Phosphoru
(B) Displacement reaction P )

(C) Addition reaction (D) Chlorine
(D) Decomposition reaction |
67. The elements with atomic numbers 35, 53
and 85 are
64. Whatis the name of the graph that is drawn,
when the temperature is kept constant ? (A) noble gases
(A) Isotherm (B) halides

(B) Isochoric and isobar

(C) Isochoric (€) alkaline

(D) Isobar (D) halogens

e

I

0SSTE S [20]
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68.  Which of the following clement will become 71.  The homolytic fission of a covalent bond
stable after losing an clectron ? liberates :
(A)  Helium (A) Carbonium ions
(B) Todine (B) Carbonions
(C)  Sodium (C) Free radicals
D) Oxy
(D) xygen (D) Carbenes
69. Jonic compounds sis
. pounds consist of _ —— | 72.  Which of the following substances is not an
charge ions. .
aromatic compound ?
A) oppositely
(A) opp y (A) Benzene
B) equally
(B) £ berae) (B) Napthalene
(C) negatively
) & (C) Anthracene
(D) positively
(D) Hexene
. . . 1
70. The electronic conﬁguratx_o'n o.f an elemen 73. Heating of Carbonate ores to remove carbon
M is 2, 8, 4 in modern periodic table. The is called :
clement is placed in which group ?
(A) Roasting
(A) 4 group
(B) Calcination
(B) 2nd group
C) Smelting
(C) 14" group . :
D) Fluxing
(D) 18% group (D) ng
OSSTE™ '™ * [21] (Turn over)
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Jowing which one is the exampy,

: 1
74. TUPAC . i From the fo ; p
name of 78 of chemi cal reaction
ted
(CH3), CH-CH= 1 - CHy is : (A) Grapes get fermente
d
(4) 2 methyl-3-pentene (B) Breakdown of foo
(B) 4 methyl-2-pentene (©) Formation of curd
(©) 2isopropyl-1 -propene (D) Allof the above
(D) 3'isopmp}’l-z-propene .
79. Reaction is said to be in equillibrium when,
formation of reactan
75. TI : : - A) the rate of trans
'@ onjugate acid of NH js @ to products is equal to the rate of
(A) NH, transformation of products to the
tants.
(B) NH,OH reactan
(B) 50% of the reactants are converted to
(© NHj products.
(D) N,H 4 (C) the volume of the reactants is just equal
' to the volume of the products.
76.  Which of the following elements occur freely (D) the reaction is near completion and all
in nature ? ' the reactants are converted to products.
(A) Iodine
(B) Sulphur 80. Which of the fOllOWing are exothermic
reactions ?
(C) Phosphorus '
(D) Magnesium ) Reaction of water with quick lime
(i)  Dilution of an aciq
e R : (i) Evaporation of
77. The cooking gas is mainly a mixture of the of water
following two gases : (tv) Sublimation of Camphor (Crystals)
(A) Methane and Ethane (A) (i) and (ii)
(B) Ethane and Propane (B) (i) and (i)
(C) Propane and Butane () @) and (iv)
(D) Butane and Pentane (D) (ii) ang (iv)
e
OSSTET/P-1 [22]
~ontinued)
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B - SECTION - 1IT )
SCIENCE (PCM)
MATHEMATICS |

81. If A={1, 3, 5, 7, 0, 11, 13, 15, 17}, | 84. 1p*=q'=(p—q)(p—q)*~xpq, then find the
B=12,4,...18) and N is the Universal Set, value of x.
then A"U((AUB)NB') is : )
A) A (A) 1
B) N
®) B) -3
(€ B
(D) None of these <) 3
82. What is the positive value of (D) -1
\/\/8+2J8+2,/8+2J§ ?
(A) 10 85. In theset A={1,2 34,5}, a relation R is
(B) 6 defined by R={(x, y)|x, yeA and x<y}. Then
(C) 8 Ris:
D) 4
®) (A) Reflexive
83. Letf:R—-R, g: R—R be two functions given (B) Symmetric
by f(x)=2x—3, g(x)=x>+5, then (fog)~*
is : (C) Transitive
x+7 % (D) None of these
@ (22
2
. % 86. If the lines ax+2y+1=0, bx+3y+1=0,
(B) (x—z] cx+4y+1=0 are concurrent, then a, b, ¢
are in :
L | ' (A) AP
© (2P
(B) GP
— 7V (C) HP
® (2]
. (D) None of these
OSSTET/P-1 [23] + (Turn over)
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(

87 The incentre -12 | a1 g] .
Firies J.C:L(I;m of the triangle formed by the 90. The value of tan|COS 5 3] 1s:
+¥=0and 3y +dy=12is at : :
1 1 6
@ [33] A 17
®) 1,1 7
®) 76
@ [v3) v
© %
1 (D) None of these
(D) [5, l]
91. The value of cos1® cos2® cos3° . . . cos]7y
is®
88. The function 1
&) 7
y=x—cot‘1x—log(x+\/x2+1) is B 0
increasing on : . © 1
(A) (-==,0 (D) None of these
(B) (0, =)
92. 1f the mean and variance of a binomial
©) (-, =) variate X are 2 and 3 respectively, then the
probability that X ;
(D) None of these lis by takes a value greater than
< | @ 2
89. If A is a square matrix of order rixn, then
adj (adj A) is equal to : 1
© (B) 5
(A) |A"A
® [AP-1A o 2
8
©) [AP2A
| 15
- D —_—
(D) |AR3A (D) =
OSSTET.LEL T L
(Continued)
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93. The sum upto n terms of the series 95. The coefficient of x" in the expansion of
3,5 7 log(14+3x+2x2) is :

w2 “"‘“‘"T———«--'i-...is:
1717422 124073

on

(A) n+1
1 n+1
) On (B) ( 31 on +])
(B) n+1
2N+ 1

12n _ C

o © =
(D) None of these

3n

()

x"" 2
t° dt
94. How many bullets can be made out of a cube 96. The value of lim f C(?S s
of lead, whose edge measure 22 cm, each x—=0  xsinx
' 2
bullet being 2 ¢m in diameter ? Use = -
R
A 5
(A) 2541
(B) 1
(B) 2514
(C) 2154 © -1
(D) None of these (D) None of these
OSSTET /P-T 1751 (Turn over)
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: _ " between he .
‘ L d]StanCe llne
97.  The variance of first n natural number is : 99. The % AA A
2/1.\__2/}+3k+>\[i —j+4k| angd the
JiE=
A n? 41 A A A L
T 12 plane 1° {BOUHE{=205
g h -1 10
(B) T (A 373
10
©) (n+1)(2n + ) (B). 3
6 _
10
© 5
(D) None of these
(D) None of these
98. The total number of generators of a finite ] _
cyclic group of order 10'is 100. What is the volume of the largest right
circular cone that can be fitted in a cube
) 22
el whose edge is 14 cm ? [Use L =7]
A 3
B 2 (A) 618 cm
(B)  768.37 cm3
(© 4
© 718,67 3
(D) None of these (D) None of these
"
_ 26
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CHILD DEVEL

OPMENT, PE‘?

SET -@

AGOGY,
ALUATION

CNT & E
NAGEMENT .
: SCHOO M — ] 04. National Staff College for Education,)
101. A percentage based method for awarding e Planners and Adminis?ators Sta'rted in 1973
grading is known as : by Govt. of India is rechristened g
in 1979.
(A) Absolute grading
s (A) NCERT
(B) Relative grading (B) NCTE
(C) Both (A) and (B) (C) CABE
(D)  Neither (A) nor (B) (D) NIEPA
105. TLM should be used by teacher as it :
102. What was Alfred Binet's Theory ? (A) isnot very expensive
(A) Intelligence can be defined by the (B) »motivates l_ea;rnetr.; (:géurther prepare
comparison of the performance of Rl mae e
children at the same idea. (C) supplements teaching learning process
(B) Gifted children should be identified (P)s preparesstudentsimentallyifotnithe
early and have access to specially class
trained teachers.
(C) People are not born with all of the | 106- Whic}} of the following types of learning
intelligence they will ever have. materials are in the form of real objects or
ideals that make the concepts very clear ?
(D) The dlffefentiatiqxl' of h.lfman (A) Visual material
intelligence into specific modalities of - :
intelligence, rather than defining (B) Surrounding environment
intelligence as a single, general ability. (€ - IcT
(D) Tactile material
103. In which of the following test, the word )
“Premises” is associated with : 107. Basic managerial functions of Human
(A) Multiple choi Resource Management are :
ultiple choice questions :
A (4) Planning, organising, staffing
(B) Alternate response questions () Planning, organising and
- Co—ordinating
Matching form questions :
, © Plam‘m_g' organising, directing and
(D) Simple completion type question controlling
(D) None of these
OSSTET /=2 =
atinued)
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108. A more positive attitude of parents towards

109.

110.

111,

school can be derived from enriched

(A) Economic background
(B) Cultural heritage
©) Customs and traditions

(D) School-community partnership

Who said that intelligence in general was the
power of good responses from the point of
view of truth or fact ?

(A) Thorndike
(B) Termon
(C) Peterson

(D) Buckingham

According to whom each reinforcement
builds up a reserve of responses ?

(A) Hul

(B) Gestalt
(C) Tolman
(D) Skinner

Scales having equal differences between
successive categories refer to :

(A) * Ordinal scale
(B) Nominal scale

(C) Ratio scale

(D) Interval scale

112.

113,

114.

seT -( C]

Whi -
! hich of the following statement is incorrect
as refers to portfolio ?

(A)  Students get opportunity to exhibit

their own talent
(B) It makes learners more self reflective

(©) BOlh teacher and student collaborate
in evaluating on student progress

(D) It is a tool that clearly indicates
marking criteria

Audio-visual aids make learning :
(A) easy

(B) interesting

(C) effective

(D) all of these

A systematic process of determining to what
extent instructional objectives are achieved

by pupils is called :
(A) Measurement
(B) Assessment
(©) Evaluation

(D) Examination’

—

(Turn over)
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115. means something that can be
used to help achieve an aim.

(A) Replacement

(B) Resource

(©)  Source

(D) Foundation

116. Educational management has been defined
by G. Terry Page and J.B. Thomas as

(A) a method of operation and good
management should result in an
orderly integration of education and
society.

(B) a body of educational doctrines,
comprises a number of principles.

(C) theory and practice of the organization
and administration of existing
educational establishments and
systems.

(D) the force that integrates men and
physical plant into an effective
operating unit.

117. At which age a child can understand
similarity and distinction between words ?

(A) Attheageof5to 6 yrs.

(B) At the age of 1to 3 yrs.

(C) During adolescence |

(D) At the age of 9 to 10 yrs.

OSSTET/P-1

SET ~®

ding to Kurt Lewin’s which theop,

i ; N )
118. Acco cents experience a rapidly Wideniy,

adoles
life space along

time dimension
(A) Field Theory
(B) Focal Theory
(C) Grand Theory
(D) Psychoanalytic Theory

3

geographic, social and fUtUre
g7

Formulating general principles based op

19. .
! knowledge of examples and details is knowy,

as :

(A) Coding system
(B) Intuitive thinking
(C)  Eg-Rule method

(D) Inductive reasoning

120. Pavlov’s experiments with whom led to the
discovery of a new principle which
revolutionized thinking in social

sciences ?
(A) Cat
(B) Rat
(©) Dog

(D) Chimpanzee

121. The process by which an organism acquires
a new mode of behaviour, which tends 0
persist and affect the general behaviou!

known as

(A) Emotion
(B) Learning
(©) Motivation
(D) Teaching

— ) e

[72] ol od)
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122.

TLM should be used to

(A) Make teaching more useful
(B)  Make teaching impressive

(C) Provide concrete examples
(D) Facilitate learing,

3. Constructivist approach suggested that

s crucial for constructing
knowledge.

126.

127.

SET -(CJ

Whic

C o ' |

(‘lnmh( of the following is an important
= - istic . o

q(‘hn(i enstic commonly found in effective
Moot administrators at the primary level ?

(/\) Mdssh'ry over subject knowledge
(1) ].f‘mlf‘r‘;hip and management
(C)  Effective communication

(D) Interpersonal relationship

According to Chomsky, humans have a
— to develop language.

A)  prior knowledge of the learner
t : e N (A) perceptual set
() conditioning (B) telegraphic readiness
(C)  punishment (O) i Nping set
(D) rote memorisation (D)  biological predisposition
124. Which theory of motivation holds that the 128. According to B.F. Skinner language
secrets of mind are locked within the cells of development in children takes place as an
the nervous system ? outcome of
(A) Pawn theory (A) inborn capacity
B) training in grammar
(B) Stimulation theory (B) g m gr
(C) imitation and re-inforcement
(C) Depth theory
(D) maturity
(D) Psychological theory
129. In a learner centric approach a teacher
125. Constructivism is a learning theory based should
e (A) clarify concepts by citing examples
) Developmental Psychology (B) facilitate student learning
(B) Evolutionary Psychology (©) explain concepts by using adequate
. support materials
(€)  Cognitive Psychology ‘
(D) demonstrate inside the classroom
(D) Occupational Psychology
OSSTET/P-1 (73] (Turn over)
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133. Which of the following is a characteristjc of

13’0. Who was the first to use multiple choice writical Pedagogy ?

items for assessment in 1915 ? o
A) Language and Fower
(A) 1. Piaget (A) DA
(B) Democracy and Social justice
(B) Vygotsky .

(C) The neutrality of knowledge
(C)  Skinner

(D) All of these

(D) EJ. Kelly

A progressive teaching philosophy that

134. :
131. Thorndike’s which law of learning is based challenges students tof gxaml?e Power
on the laws of use and disuse ? structures and patterns of inequality withjp
the status quo was put forwardeq
(A) Law of readiness _ by

(B) Law of effect (A) Socrates

(C) Law of exercise (B) ~ Paulo Freire
(D) None of these (C) Swami Vivekananda
(D) Rabindranath Tagore

132. From the following list of methods of
teaching identify those which are learner | 135. Who proposed that all children have
centered. language acquisition device ?

(i)  Project work (A) Piaget

(i) Chalk and talk (B) Chomsky

(iii) Lecturing with audio-visual (C) Vygotsky
D) Dan Slobi
(iv) Computer aided instruction (D) an Slobin

(v) Simulation and réle-playing

136. Creative learning is based on ________

(A) (i), (iii) and (iv)
(A) Transfer of Principles & skills
(B) (iv) and (v) _
(B) Discover principles & concepts

C) (i), (ii) and (iii s
(© ) () (i) (C)  Memorizing facts & principles

| (D) _ (iﬁ), (iv)and (v) = (D) Mechanical reproduction
__—-__.-’

tinued)
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137. Which of the following is

a tool used for

SET -( C]

. ) a o . 14(‘. "‘I \ .
individual test of mtelligence ? in:t-l:l;l.dhly ol a test that measures, what it
us 1o Measure jg . of atest.
(A) Raven’s progressive matrises (A) teliability
(B) Stanford-Binel fest (M) validity
C 10011 1 by
(€©) Jalota’s scale of intellegence © abjec VAL
(D) usability
(D) None of these
141, "Fh]f stalement in a multiple choice type item
1S Known as :
138. Which of the following statement is not
related to assessment as learning ? (A) Stem
(B) Distracter
(A) Encourages students to take
responsibility for their own learning (C) Response
(B) Used to assess the learning weakness (D) Question
of the students
(©) Encourages peer assessment 142. Whichis the period for acquiring experiences
of Social subordination to authority figures
(D) None of the above outside the family ?
(A) Infancy
: (B) Early childhood
139. Which of the following is not true in the nildhood
context of teaching learning materials ? (C) Later childhoo
. (D) Adolescences
(A) A blackboard can be used for putting
the cut outs of newspapers and
magazines. o .,
143. Who is author of ° Animal Learning
(B)  Teaching can be effective through the published in Ll
use of audio-visual aids. A) L. Thurstone
(C) Audio-visual aids help comprehend B) J.P. Guilford
difficult or monotonous content,
(C) P.E. Vernon
(D) Text books are one of the main TLLM Thorndike
used in classrooms. (D) E_L___________
urn over)
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n resource management means -

) 148. Huma
e Thi i,;t-e”ige."cc that is occupied with objects A method which an Organisatiy,
and things is collects, maintains and Tepory

(A)  Abstract intelligence information on people and jobs,

(B) Concrete intelligence (B) The process of integ.rat.ing the

R employee’s needs and aspirations wjg,

(C)  Social intelligence Organisational needs.

(D) None of these (C) The process of bringing people anq
organisation together so that the goq]
of each are achieved.

145. TLM should be selected according to : . _
(D) The efforts to make life worth living

(A)  their availability in respective areas for workers.

(B) the objectives of teaching

(C)  their cost 149. Which of the following is not a way of

" Sy
(D) mnone of the above measuring retention ¢
(A) Method of recall
146. The evaluation in which variety of (B) Method of construction

techniques are used to measure scholastic .

and non scholastic areas of the pupils is (EJieictmdiotus]caming

known as : (D) Method of recognition

(A) Continuous evaluation

(B) Placement evaluation 150. According to Johnson & Soloman

(C) Comprehensive evaluation stammering is mainly due to

(D) Diagnostic evaluation (A) %ea.mi.ng faulty ways of speech by
Imitation of other
. B) heredi
147. Which of the following statements is not an ®) By
e » . .
advantage of rubrics ? (C) emotional tension a5 observed in
(A) Potential to be transferred into grades EXGessive fear
(B) Provides the child more control of their (D) Lack. of balance among the tw0
own learning process emispheres of the brain
(C) It restricts the students mind power
(D) Narrows the gap between instruction
and assessment "
L - ~ ——/
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